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GEOGRAPHY

(Honours Generic/ R_égular)

For Honours Generic
Answer the Questions from any one Option.

OPTION-A
Paper : GGY-HG-4016
( Geography of India and N.E. India)
OPTION-B
Paper : GGY-HG-4026
( Population and Settlement Geography)

For Regular

( Geography of India with reference to
N-E India) '

Paper : GGY-RC-4016

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION - A
Paper : GGY-HG-4016

( Geography of India and N.E. India )

Answer the following objective-type

questions : 1x7=7
SO TGT-LIUT TR Tew g
(@) The Tropic of Cancer passes through

(b)

(c)

(@)

how many states of India.

FHOTIY ([T BRSO (FRAT I VTS
SIS FR?

What is the total population of India
according to 2011 Census?

2055 57 FPIFeT WC© O P TRyl e

The climate of India has broadly been
described as of which type.

OISR TERRE (I 4391 T JisiFeid I
I AR?

Which Indian state is the largest
producer of tea according to 2021
data ?

2035 59 RROHINTe OiRws (i TR IKifee
Iz Teotive FRE?
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(e} Write the expanded form of OPEC.

OPEC T =J«f {th! fera|

() Write the name of state bird of Assam.
SN TSI GRIRCON Al ferf|

(g9 What is the historic name of Mizoram ?
e afexre T e

2. Answer the following very short answer-type

questions : 2x4=8
were fral wifS 5t Tes-«eT enpres e s

(a) Which are the largest and smallest
states of North-East India in terms of
area ?

WW@-@WW&WW%W
F I (I (AL

(b) Name the longest rivers of South India
and North India.

viEr ©lee wiT Tey sigey Aoy THig A
ot

(c) What are the longitudinal and
latitudinal extensions of India ?

OIS TR OIF TR [igfs [wime
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(d) Define sustainable development in
terms of mineral resource.

A T MR CFae I2TEN SaIg ke Al |

Answer the following short answer-type
questions : (any three) S5x3=15
were Al 5 Se-4w iR Tes faal ¢ (RiTsra
fefast)

(a) Write in brief about the location of India
and its significance.
TS TR ST R Ol FE o
ferar

(b) Give an account of the population
Composition of India in terms of rural-
urban, Age-sex and religions.

ST ARY-AINA, I-ToRS T 61 Cvge
G e TS R

(c) Write a note on the distribution of
Vegetation in India and North-East
India.

OIS OIF T6F 77 OIFeT Bens e i
<ot e forat

BO4FS 0159 4

(d) Write a note on the factors influencing
industrial development in India.

SiRes Somife ST cFae el I
PSR @ft R fenan

(e) Discuss the trend of population growth
in India since 1951.

S5e> TR Sl SReTH T I A
TS ST 41 |

Answer the following questions : (any three)
10x3=30

weTs faat enpr es Tt ¢ (Rriear fofe!)

(@) Divide India into physiographic regions
and describe the characteristics of any
two regions in detail. 2+4+4=10
R Sl SRR i I S AT
71 iR e R AR s

(b) Discuss the distribution and production
of Coal in India. 5+5=10

eI ITAR FoT SE T TS
Sl il
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()’ Mention the Climatic divisions of India

(c) Give an account of industrial policies
and give an account of mechanism of

in India after independence.

oiger FiAToR Five Bl NS TIf 5t Indian monsoon. 3+7=10
R | CIIeY TIPS SR WIT ©e (MRS
TrerRIgd aiferar sreits Reet fean

(d) Write an account of distribution and
production of tea with reference to
different factors affecting tea cultivation
in India. 2+4+4=10

OITeT BiZ (AT &oR (olteRt Ry e
W\ﬁmﬁw«rm@mﬁwvm;

(e) Explaln the statewise population growth
pattern of N.E.India and briefly discuss
in this context about the recent
population policies of Assam. 8+2=10

Bey 77 O] IWed TR IR e
Iy 9 T G2 AR R sy
Tl e RACT S0 SNTeTo 3541 |
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OPTION -B
Paper : GGY-HG-4026

( Population and Settlement Geography)
1. Answer any seven of the following
questions : 1x7=7

s [Tl seb 2R Te] foral ¢

(a) When was the first complete population
census started in India ?

wireafe g T ERhEE @foa wiws
<1 e

() What are the components for
population growth ?

SR 3 SR &2
(c) Define census.
ElREe K ol

(d) What is the average density of
population in India according to Census

2011 ?
R 2055 SFPIN SRE® GPRYN e
Ty e

(e) In which year the unique iden’Fity
number (UID) was introduced in India ?

@ T oiee 30w WiRTHh T
(3Tuiafd) e 1 (w2

BO4FS 0159 8

(9)

()
()

0

Who introduced the demographic
transition theory and in which year ?
@I oAl G RS e SR
IF (P {92

Which state has the highest dénsity of
population according to census 2011 ?
EIFRITE 205 SRFAR IR TS TPRIN
TG AL ?

What is a central place ?

@ = e
What is primate city ?

a3 v e

What are the two fundamental concepts
according to Walter Christaller’s central
place theory ?

IR fFEAR T I ©F RIS
chfere 4l e &

Answer any four of the following questions

in brief : 2x4=8

wo Rl BIfBIT 29 Tet s fordl ¢

(a) Define demography.
(oARPR ARE

(b) Define urban fringe.
IR elew ke o

(c) What is meant by population ageing ?
SRR T T ul e
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(d) What factors are responsible for the

(e)

7

(9)

(h)

dispersion of settlements ?

PSRN AR PRI DI T2

What do you mean by morphology of
settlements ?

AT Fologw ol R
What causes population ageing ?
TR I e AT e

How is the decadal growfh rate of
population measured ?

SRS i Zpicet I AT @w [efw
R LUK

Cite two problems of population data.
SR SYF 757 T S 1

3. Answer any three of the following questions:

SR i fofant emT Tex ot ¢

(@)

(b)

5x3=15

Write a short note on the scope of
population geography.

Gl Sralle SRS 82K Bl 5 (Bt
e

Discuss briefly the scope of settlement
geography.

TS QAT AR S A 31 |
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(¢) Define migration. Discuss briefly the
push and pull factors of migration.
W T il | e R o sl
FIIEIT 5YF SO 11 |

(d) Discuss the stages of demographic
transition theory with suitable diagram.

GolgE TF (O (o Glgp fauie

BIRIT SCEABA! T '
(e) Write a short note on Census of India

2011. Mention the demerits of census

data.

OITST (FUIIHITE 2055 T 85igw &b} 53 (Bl

Tl | IefoReR O (INER B 310
(7 Discuss the theory of internal structure

of towns by Burgess.

AT QR TR SErN A g

SO T4 |

Define population geography. Discuss the

trend of world population growth since 1900
AD. 2+8=10

SR GO K@ Bl Snoo A o[ R
TRl 3@ ORI R SiicEna 1
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Oor/e3a
Discuss briefly the population density
regions in the world with suitable examples

or diagrams. 10
THTE Triesd T TR G0 SRS TR T
SRAEIT FIF AL 3 |

S. Define settlement hierarchy. Discuss the
hierarchical process of depicting urban
settlements with appropriate examples.

: 4+6=10
P ATRTIR RS F2 | Ty Taizgel G

| TR TTORER MR (afem oferaR R
oAl ¥4 o

Or/qdt
Discuss the characteristics and types of rural
settlements with suitable diagrams. 10

TS TR G ANy FAfes IR e o4FR
S 31 |

6. Discuss the assumptions given by Malthus
in his theory of population growth. Examine
the merits and demerits of his theory.

4+6=10
AR (DT TR 51 OF Ml S Sl
T (967 O sdled 919 (IEER [ 34|
Or /929
Discuss the nature and sources of
population data. 10

TAMAIT O A T Tea] H=oitF SiCeal 4 |
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